Rounding up and down

Rounding up and down

1. Round to the nearest 10 (T)

1. Round to the nearest 10 (T)

a) 426 ~ a) 426 ~
b) 399 = b) 399 =
¢) 207 ~ ¢) 207 =

2. Round to the nearest 1 (O)

2. Round to the nearest 1 (O)

a)22.1 = a)22.1 =
b) 4.08 = b) 4.08 =
) 17.8 = ) 17.8 =

3. Round to the nearest 10" (Tth)

3. Round to the nearest 10" (Tth)

a) 4.3798 = a) 4.3798 =
b) 0.054 = b) 0.054 =

¢) 33.099 ~ ¢) 33.099 ~

d) 149.999 ~ d) 149.999 ~

4. Round to the nearest 100" (H™) 4. Round to the nearest 100" (H™)
a) 22.1428 = a) 22.1428 ~

b) 6.5549 ~ b) 6.5549 ~

¢) 20.0064 ~ ¢) 20.0064 ~

d) 3.4503 ~ d) 3.4503 ~

e) 20.005 = e) 20.005 =

5. Round to the nearest 1000™ (Th™) 5. Round to the nearest 1000™ (Th™)
a) 4.9996 ~ a) 4.9996 ~

b) 12.4262 ~ b) 12.4262 ~

c) 1.4058 = c) 1.4058 =

d) 2.2225 ~ d) 2.2225 ~

e) 1.1243 = e) 1.1243 =

f) 12.4477 = f) 12.4477 =

6. Round as indicated

6. Round as indicated

a) (H™ 29.27903 ~

a) (H™ 29.27903 ~

b) (T™) 0.05 =

b) (T™) 0.05 =

¢) (Th™) 20.8798 ~

¢) (Th™) 20.8798 ~

d(T) 329~

d(T) 329~

) (0) 209.26 ~

) (0) 209.26 ~

) (T™) 849.8203 ~

) (T™) 849.8203 ~

) (Th™) 5.5555 =

) (Th™) 5.5555 =~

h) (H™) 29.79283 =

h) (H™) 29.79283 =

i) (T™ 309.2036 =

i) (T™ 309.2036 =

) (T™) 46.39238 =

) (T™) 46.39238 =







